

### **ABC Bid Data**

ROCHESTER-FARMINGTON

42243

X-A004(795)

PROJECT: ROCHESTER-FARMINGTON

STATE PROJECT NUMBER: 42243

**FED. PROJECT NUMBER:** X-A004(795) **DATE BIDS OPEN:** April 02, 2020, 2:00

SCOPE OF WORK: NH 11 corridor safety improvements and resurfacing

COMPLETION DATE: October 09, 2020

LOCATION: Strafford

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

**Amount:** \$1,307,984.25

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

### **Summary of Bidders**

Contractor	<b>Bid Amount</b>	Rank
PIKE INDUSTRIES, INC.	\$1,307,984.25	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
BROX INDUSTRIES, INC.	\$1,518,467.00	В
1471 METHUEN STREET, DRACUT MA 01826		

### **ABC Bid Data**



ROCHESTER-FARMINGTON 42243 X-A004(795)

					F	PS&E		JSTRIES, INC. TE PARK ROAD IT, NH 03220	1471 METH	USTRIES, INC. HUEN STREET T, MA 01826
Item N	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

		T	T .						1
203.1	COMMON EXCAVATION	CY	280.00	\$30.00	\$8,400.00	\$105.00	\$29,400.00	\$90.00	\$25,200.00
203.601	EMBANKMENT-IN-PLACE	CY	20.00	\$65.00	\$1,300.00	\$55.00	\$1,100.00	\$50.00	\$1,000.00
304.301	CRUSHED GRAVEL	CY	35.00	\$75.00	\$2,625.00	\$105.00	\$3,675.00	\$65.00	\$2,275.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,070.00	\$40.00	\$42,800.00	\$35.00	\$37,450.00	\$34.00	\$36,380.00
304.35	CRUSHED GRAVEL FOR DRIVES	CY	20.00	\$60.00	\$1,200.00	\$150.00	\$3,000.00	\$95.00	\$1,900.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	5,435.00	\$85.00	\$461,975.00	\$81.50	\$442,952.50	\$94.00	\$510,890.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	215.00	\$140.00	\$30,100.00	\$175.00	\$37,625.00	\$155.00	\$33,325.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	5,435.00	\$2.00	\$10,870.00	\$4.50	\$24,457.50	\$5.25	\$28,533.75
403.6	PAVEMENT JOINT ADHESIVE	LF	38,600.00	\$0.35	\$13,510.00	\$0.38	\$14,668.00	\$0.40	\$15,440.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	105.00	\$160.00	\$16,800.00	\$135.00	\$14,175.00	\$94.00	\$9,870.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,500.00	\$4.50	\$11,250.00	\$6.00	\$15,000.00	\$5.85	\$14,625.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	21,880.00	\$5.00	\$109,400.00	\$2.25	\$49,230.00	\$4.00	\$87,520.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	15,300.00	\$6.00	\$91,800.00	\$1.40	\$21,420.00	\$4.00	\$61,200.00
603.34118	18" STEEL END SECTIONS	EA	1.00	\$500.00	\$500.00	\$450.00	\$450.00	\$500.00	\$500.00
603.60015	LAYING/RELAYING 15" DRAINAGE PIPE	LF	20.00	\$180.00	\$3,600.00	\$150.00	\$3,000.00	\$65.00	\$1,300.00
615.0301	TRAFFIC SIGN TYPE C	SF	24.00	\$60.00	\$1,440.00	\$62.50	\$1,500.00	\$55.00	\$1,320.00
615.0601	TRAFFIC SIGN TYPE CC	SF	10.00	\$30.00	\$300.00	\$18.00	\$180.00	\$20.00	\$200.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
618.7	FLAGGERS	HR	2,000.00	\$25.00	\$50,000.00	\$36.00	\$72,000.00	\$40.00	\$80,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$60,000.00	\$60,000.00	\$115,000.00	\$115,000.00	\$181,000.00	\$181,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$4,200.00	\$8,400.00	\$2,500.00	\$5,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$4,200.00	\$8,400.00	\$2,300.00	\$4,600.00
621.31	SINGLE DELINEATOR WITH POST	EA	110.00	\$45.00	\$4,950.00	\$50.00	\$5,500.00	\$60.00	\$6,600.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	6,230.00	\$3.00	\$18,690.00	\$3.00	\$18,690.00	\$0.90	\$5,607.00

# New Hampshive Department of Transportation

### **ABC Bid Data**

ROCHESTER-FARMINGTON 42243 X-A004(795)

				PS&E		3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	126,000.00	\$0.19	\$23,940.00	\$0.22	\$27,720.00	\$0.24	\$30,240.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	240.00	\$10.00	\$2,400.00	\$12.00	\$2,880.00	\$14.00	\$3,360.00
641.	LOAM	CY	270.00	\$40.00	\$10,800.00	\$40.00	\$10,800.00	\$50.00	\$13,500.00
645.42	TEMPORARY SLOPE MATTING TYPE B (WILDLIFE FRIENDLY)	SY	30.00	\$25.00	\$750.00	\$4.50	\$135.00	\$5.00	\$150.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,815.00	\$4.50	\$26,167.50	\$6.75	\$39,251.25	\$3.75	\$21,806.25
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	5,950.00	\$1.00	\$5,950.00	\$0.50	\$2,975.00	\$0.50	\$2,975.00
647.1	нимиѕ	CY	345.00	\$40.00	\$13,800.00	\$30.00	\$10,350.00	\$50.00	\$17,250.00
692.	MOBILIZATION	U	1.00	\$115,000.00	\$115,000.00	\$150,000.00	\$150,000.00	\$181,000.00	\$181,000.00
698.13	FIELD OFFICE TYPE C	MON	6.00	\$2,000.00	\$12,000.00	\$2,250.00	\$13,500.00	\$1,800.00	\$10,800.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	23,100.00	\$1.00	\$23,100.00	\$1.00	\$23,100.00	\$1.00	\$23,100.00
			Totals:		\$1,287,417.50		\$1,307,984.25		\$1,518,467.00
			Alt. Totals:						
			Totals:		\$1,287,417.50		\$1,307,984.25	\$1,518,467.00	



## **PS&E Comparison**

ROCHESTER-FARMINGTON 42243 X-A004(795)

		1		A-Bid	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
		O.	000.00	<b>#405.00</b>	000 400 00	<b>#</b> 00.00	Ф0.400.00	004.000.00
203.1	COMMON EXCAVATION	CY	280.00	\$105.00	\$29,400.00	\$30.00	\$8,400.00	\$21,000.00
203.601	EMBANKMENT-IN-PLACE	CY	20.00	\$55.00	\$1,100.00	\$65.00	\$1,300.00	(\$200.00)
304.301	CRUSHED GRAVEL	CY	35.00	\$105.00	\$3,675.00	\$75.00	\$2,625.00	\$1,050.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,070.00	\$35.00	\$37,450.00	\$40.00	\$42,800.00	(\$5,350.00)
304.35	CRUSHED GRAVEL FOR DRIVES	CY	20.00	\$150.00	\$3,000.00	\$60.00	\$1,200.00	\$1,800.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	5,435.00	\$81.50	\$442,952.50	\$85.00	\$461,975.00	(\$19,022.50)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	215.00	\$175.00	\$37,625.00	\$140.00	\$30,100.00	\$7,525.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	5,435.00	\$4.50	\$24,457.50	\$2.00	\$10,870.00	\$13,587.50
403.6	PAVEMENT JOINT ADHESIVE	LF	38,600.00	\$0.38	\$14,668.00	\$0.35	\$13,510.00	\$1,158.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	105.00	\$135.00	\$14,175.00	\$160.00	\$16,800.00	(\$2,625.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,500.00	\$6.00	\$15,000.00	\$4.50	\$11,250.00	\$3,750.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	21,880.00	\$2.25	\$49,230.00	\$5.00	\$109,400.00	(\$60,170.00)
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	15,300.00	\$1.40	\$21,420.00	\$6.00	\$91,800.00	(\$70,380.00)
603.34118	18" STEEL END SECTIONS	EA	1.00	\$450.00	\$450.00	\$500.00	\$500.00	(\$50.00)



## **PS&E Comparison**

ROCHESTER-FARMINGTON 42243 X-A004(795)

				A-Bidder		PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
603.60015	LAYING/RELAYING 15" DRAINAGE PIPE	LF	20.00	\$150.00	\$3,000.00	\$180.00	\$3,600.00	(\$600.00)
615.0301	TRAFFIC SIGN TYPE C	SF	24.00	\$62.50	\$1,500.00	\$60.00	\$1,440.00	\$60.00
615.0601	TRAFFIC SIGN TYPE CC	SF	10.00	\$18.00	\$180.00	\$30.00	\$300.00	(\$120.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
618.7	FLAGGERS	HR	2,000.00	\$36.00	\$72,000.00	\$25.00	\$50,000.00	\$22,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$115,000.00	\$115,000.00	\$60,000.00	\$60,000.00	\$55,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,200.00	\$8,400.00	\$3,000.00	\$6,000.00	\$2,400.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$4,200.00	\$8,400.00	\$3,000.00	\$6,000.00	\$2,400.00
621.31	SINGLE DELINEATOR WITH POST	EA	110.00	\$50.00	\$5,500.00	\$45.00	\$4,950.00	\$550.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	6,230.00	\$3.00	\$18,690.00	\$3.00	\$18,690.00	\$0.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	126,000.00	\$0.22	\$27,720.00	\$0.19	\$23,940.00	\$3,780.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	240.00	\$12.00	\$2,880.00	\$10.00	\$2,400.00	\$480.00
641.	LOAM	CY	270.00	\$40.00	\$10,800.00	\$40.00	\$10,800.00	\$0.00
645.42	TEMPORARY SLOPE MATTING TYPE B (WILDLIFE FRIENDLY)	SY	30.00	\$4.50	\$135.00	\$25.00	\$750.00	(\$615.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,815.00	\$6.75	\$39,251.25	\$4.50	\$26,167.50	\$13,083.75
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	5,950.00	\$0.50	\$2,975.00	\$1.00	\$5,950.00	(\$2,975.00)

Thursday, April 9, 2020 Page 5 of 6



## **PS&E Comparison**

ROCHESTER-FARMINGTON 42243 X-A004(795)

			1	A-Bide	A-Bidder		kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
647.1	нимиѕ	CY	345.00	\$30.00	\$10,350.00	\$40.00	\$13,800.00	(\$3,450.00)
692.	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$115,000.00	\$115,000.00	\$35,000.00
698.13	FIELD OFFICE TYPE C	MON	6.00	\$2,250.00	\$13,500.00	\$2,000.00	\$12,000.00	\$1,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	23,100.00	\$1.00	\$23,100.00	\$1.00	\$23,100.00	\$0.00

**Total:** \$1,307,984.25 \$1,287,417.50 \$20,566.75

Thursday, April 9, 2020 Page 6 of 6